DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11JPCM/WTOS | JEE PRACTICE QUESTIONS | %%
(2024-25) (TEST-5) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS (Q.No. 1 to 15)

1. The bus moving with a speed of 42km/hr is
brought to a stop by brakes after 6 m. If the same
bus is moving at a speed of stopping distance is
90 km/hr, then the minimum stopping distance is

1) 15.48m
2) 18.64m
3)22.13m
4)27.55m

42km/hr Geussdlev OFeLAID GLIIHHS), HEWL 6D
LweTUG S S 60T 6M b&IHE HNISSILGEDE.
318s CGumbgs 90km/hr Geussdled GFLID
Gung semLemw LweTUBSSleoTned Sig HDGL

SITID
1) 15.48m

2) 18.64m
3)22.13m
4)27.55m

2. The velocity of particle (v) = v, +gt + Ft*. Its
position is x = 0, at t = 0, then its displacement
after time (t=1) is

v, +g+f

S/ L F
2)V0+A+/3

g
v +=+F
3) o 2

4)v +2g+3F

glseflenr HlemsGeuad (v) =v_ +gt+ Ft>, Gpmb t =0
ereufled gserfleor Blemed x = O LHMID (t = 1) erevfled
glsefleor L1 euwisd

v +g+f

g/ L F
2) VO+/Z+A

g
v +=+F
3) o 2

4)v +2g+3F

3. A rocket moves straight upward with zero initial
velocity and with an acceleration 20ms=. It runs
out of fuel and stops accelerating at the end of 5th
second. It reaches maximum height and falls back
to the earth. The speed when it hits the ground is
(Take g = 10ms™)

1) 1002 ms'!
2) 150V3 ms™!
3) 50N6 ms™!
4) 75 ms™!



&Pl  mouglems Geusd wOHMID  20ms?
WwhosesaILer Cuame Onsesl 6etm Goed
Crredl asdlng Seug eleormaquied erflowmper
sl Hlemeouled (PBSHSHD HMSSILL(D,
SFBLULE 2 WTSHmS DeDLHIOYL6T, LpLilemiL
Crnesdl Hmol eEHng. ereofld  Hemmuied
Guongd Gung 0né 6&LIqeoT Geusld  6T6dTeT?
[g=10ms?]

1) 100\2 ms™!
2) 150V3 ms™!
3) 50N6 ms™!
4) 75 ms™!

4. A person sitting in the ground floor of a building
notices through the window of height 1.5m, a ball
dropped from the roof of the building crosses the
window in 0.1 second. What is the velocity of the
ball when it is at the top most Point of the window?
[g=10ms™].

1) 15.5 ms™!
2) 14.5 ms™
3)4.5ms™!
4) 20 ms™!

sligL sleor Ged sHensHeSlmhs SC efpb
ubg 1.5 B 2 _wimpeitem edTeoremev 0.1 eXleormiquiled
L&D Gurng sLLSHT ST HenHHled
2 L sminhg Qe QHeuT seuerflésEAnn ereofled
eeoteoTedledT GOELL L H6m Lih& SL&&WL Gung)
G601 Flewa Beusld eredteor? [g = 10ms]

1)15.5 ms™!

2) 14.5 ms™!

3)4.5ms™!

4)20 ms!

5. The average velocity of a body moving with
uniform acceleration after travelling a distance of
3.06 m is 0.34 ms!. If the change in velocity of
the body is 0.18 ms™ during this time its uniform
acceleration is

1) 0.01ms™
2) 0.02 ms=
3) 0.03 ms™
4) 0.04 ms>

&oneor (pB&SHSIHL BHL G LNHET 3.06L5
SIS5ems SLbHS eor sonsfl HlemsGeusd 0.34
e, @by GCrudde eunmeafledr HensBeusm
rpuT@® 018 Wed!. erevfled ewnm@pefledr Srmeor
whessd i

1) 0.01ms>
2) 0.02 ms
3) 0.03 ms™
4) 0.04 ms=

6. A man running at a speed of Skm/hr find that the
rain falls vertically when he stops running, he finds
that the rain is falling at an angle of 60° with the
horizontal. The velocity he of the rain with respect
to running man is

1) 5\3 km/h 2) 5¥3 /2 km/h

3)4V3 /2 km/h 4) 5N3 km/h

5km/hr Geusddled & evflHedr ML Gums)
DeWY CFHIGSHITS el(geuems  SHTesormmeoT.
eOeuems Hnsslwe er HenLol L 5EsmE 60°
Ganeoosdled wwemlp el(peuems  SmevoTEDTEIT
eTeufled LoeuflHe0T G(BEUMSLI QLMTMISHE! Lo6wLPUTET
HlemsBeusLoneors| wng)?

1) 5N3 km/h 2) 5¥3 /2 km/h

3) 4V3 /2 km/h 4) 5V3 km/h



7. A stone is thrown vertically upwards, when the
stone is at a height equal to half of its maximum
height its speed will be 10ms™. then the maximum,
height attained by the stone is (Take g = 10ms?)

1)3m
2) 15m
3) Im
4) 10m

&0 QTN OFRGHITS  ermuln@BGUTS)
&HELELETTE AHFBLLE 2 WTSHH6D LTS 2 WTsHems
siemLwd Gurg Geusd 10ms' eredTDmEL  &H6L
SiemLD B 2 _wigd (g = 10ms—)

1)3m
2) 15m
3) Im
4) 10m

8. From the top of a tower, a ball is thrown vertically
upward which reaches the ground in 6 S. A second
ball thrown vertically downward from the same
position with the same speed reaches the ground
in 1.5 S. A third ball released from the rest from
the same location, will reach the ground is

1) 3s 2) 30s

3)2s 4) 6s

ubsh &etemm  Gamumsdlenr 2 FHuledmhEl
BweBrnad aamhiGHHNS eTmlibsmed 6 eXleormauied
SHemTemI 6UHGHeWLEMG). LT6TOTLMEUS), 6(H LIHeDS
3188 BL5FHe0mHe 2165 Cousddled O&HIGHITSH
Ep Gmnéed erMibsmed 1.5 efleormquish Hemremuwl
aUbHOLING. 3165 SLHHeOHHE CeoTHIEUS)
ubens @6y Heoouledmbs elBelssme
SHemIeMW! EUHSMLU|D GHILOMEOTS).

1)3s 2) 30s

3) 2s 4) 6s

9. The width of the river is 1km. The velocity of boat
is 5 km/hr. The boat covered the width of the river
in short time 15 min. Then the velocity of river
stream is

1) 3km/hr
2) 4km/hr

3) V19 km/hr
4) V41 km/hr

UL 660Tm| Skm/hr GeussSgiL 60T 1 1.5 Sisev(peern
DM SLHSH GHeWDIHS LILFID, 15 HIOILrhisemern
T(BH&IH QBMeTHME) ereufled Sphfled HTMLL &6t
BeusLd eT60T60T?

1) 3km/hr
2) 4km/hr

3) V19 km/hr
4) 41 km/hr

10. The position Vectors of Pand Q are 5i+ 4 j + ak

and —i + 2} + -2k respectively. If the distance
between them is 7, then the value of ‘a’ will be

1)-5, 1
2)5, 1
3)0,5
41,0

P wpmib Q-eflr Hlewed QeusLTaeT 51+ 4 +ak
oo  —i+2j+-2k 6. SMEUSHEDHHS
BemL G 2_sitem GO 7 er6vfled a eXledr ol

1)-5, 1
2)5, 1
3)0,5
41,0



11. Find a unit vector perpendicular to the vectors
A=4i-j+3k and B=-2i-j-2k

| i—5]+2k
) o7
?+5}+2l€
247
— 4242k
3) —3f
—i—27 -2k
4) —\E
A=4i-7+3k LOHMILD B=-2i-j-2k Sy

CEUELITHEDHE 6EFRIGSHHTS 2 6T6m QTG
e6USLT

§+5}+2§
27
- ;'+2}'+2,@
3
—i—27 -2k

4) 5

3)

12. The vector sum of two forces is perpendicular to
their vector difference. In that ease the forces

1) are not equal to each other in magnitude
2) are equal to each other in magnitude
3) are unequal

4) None of the above

@nevor®@  eNemssefledr QEUELT  Fn(BSHELVTEOTS)
SiemeUH6TleT QleusLT CeumILNLIgNE C1&HIGSHSTS
o _eteng). &b Hlepailed elemssenmeorg)

1) eTeoor  WOSHILTED Sieweu  QEOTMISHEISHTEOTM)
&LOLD6DED

2) er600T LOGILILTlED SieMEU EEOTMIS CIGHTEOTM)| FLOLD
3) &LL06DEY

4) Cupanmlw erge Ldlebemen

13. A particle moves in a circle of radius Scm with
constant speed and time period 0.2nS. The
acceleration of the particle is

1) 15 ms™
2)25m?
3) 36 ms™
4) 5 ms™

5 [3L:ah) S I(PEDLL eu L LILmemsuied
fomeor  Geusddled SuikiGL HideT &edTHeor
SleWEVEYSHHMVD 0.2 7S eTeufled  Sisg Herfleor
(WH&HSHLD 6T60TE0T?

1) 15 ms™
2) 25 m>
3) 36 ms™?
4) 5ms?

14. An electric fan has blades of length 30 cm
measured from the axis of rotation. If the fan is
rotating at 120 rpm, the acceleration of the point
on the tip of a blade is

1) 47.4 ms=
2) 50.55 ms™?
3) 1600 ms™
4)27.3 ms?

Qm Wer efdlulenr &pnd oiEdd Sabhal
@néemsuieor Hemb 30 685  1Oer e
120 rpm er60T SLpeyid GLINg @méemauieor misoflufed
enLWCHTSHE (WHBSHSHLD 6T60T60T?

1)47.4 ms™
2) 50.55 ms™
3) 1600 ms
4)27.3 ms™



15. The velocity-time graphs of the two particles P,
and P, are shown in the adjoining figure The ratio
of the distance covered by them at any instant is
X,/ X, =

1)3
2)\3
3)2
4)~2

P, Log')QJL'? P, .guaa.siws@?é@rrs.m ef,]sm&(%suoa: &HIT6L
eUEmILLLD ULSHeD sniLlL (Berengl. b &b
Crrssald s586TH6T SLHG C\HTeneeyserler
elldsib X, / X, =

s
q
g \D
Lo
b
)3
2)\3
3)2
4)\2

CHEMISTRY (Q.No. 16 to 30)

16. The best evidence that electrons are arranged in
definite orbits or energy levels is based on the
observation that

1) Atomic spectra consist of discrete lines and
not continuous bands

2) Electrons in the beta ray have high kinetic
energy

3) The penetrating power of cathode ray electrons
depends upon the voltage used to produce
them

4) Electrons revolve around the nucleus

eTeUHLIN60THET  GSUILLL UL L LUmemguied
Si6DEVE  AHMMED UL SHHED  SIeMLOMHGI6TET60T
STEOTUSMBME0T A ST SpSH&H600TL. Sy lielledT
SiqLILIEDLUN6D SIEWLOHSIETETE).

1) o) FIDLOMEmE,OSTLTFFIMTE0T LI 6WLSH6IT

Gumed Qevevnoned HevflHd CamBEHemensd
Q& mevoT(B6iTeng)

2)5LLn adlisefled 2 _6Tan  6TEV&HLTTEOTEHEIT
aFles Quss ApHMEDEVS E\SM6ToT(H6TETE0T

3) Ca5Can(h ST eTeV&L_ 60T SH6rl60T
oar(BrHeYL ST SiuMemM L_(HEUTSHS
LweoTU(BSBLIL(BLD LOl60TE0T (10 5 SHeMSLI

UTMISSSI
4) TSHLOMEITHET  HNODUSHBHIHEWEUS Sl
6U(H 60T 60T

17. AE value is maximum in

1)E,~E, = AE
2)E,~E,=AE
3)E,~E,=AE
4)E,~E,=AE

SlpasetorL  uflonhpsHed erdled s uls AE
&Iy 2_eTeng)

1)E,—E, =AE
2)E,~E,=AE
3)E,~ E,= AE
4)E.~E,=AE

18. Which of the following is responsible to rule out
the existence of definite paths or trajectories of
electrons?

1) Pauli’s exclusion principle.
2) Heisenberg’s uncertainty principle.
3) Hund’s rule of maximum multiplicity.

4) Aufbau principle.



EpsetoiL 6 GINHEWENT  ETELHLITEOTSH6I
EUEDTWIMISSLILIL L Lmemaaerfled SLuems
Birneflsdng)
1) Qa6 HENTHEMS HHGHIEULD
2) el@mLLge0TUT &el60T 2 _migluiletemios
OBTETEMS.
3) aurevorl efld)

4) LI Q\BHMTETEmS.

19. The kinetic energy of the ejected electrons in
photoelectric effect is

1) Directly proportional to the frequency of the
incident radiation

2) Inversely proportional to the frequency of the
incident radiation

3) Not related to the frequency of the incident
radiation

4) All the above

earflbleor eXlememexled
eTELSLIMEOTSH6M 60T SWidHs ShMHMeD

YuBb  sHireli&dleor
CrreldssdHled 2 eTeng)

eleuefilILBLD

S1F[T6161600T600)16&

2) UL sJielisdler sFlieEUTTEINSES THIT
efldlasHe0 2_6Terng)

3 ul  sHreisdeor
CSMLITL{6ML LIS SI6060

S1F\[T61621600TTT)L 60T

4) Cunanlul SemeTHHID

20. In photo electric effect, the energy photon striking
a metallic surface is 5.6 x 107"°J. The kinetic
energy of the ejected electrons is 12.0 x 10 =° J.
The work function is

1)6.4x10°1°]
2)6.8x 10719 7J
3)44x 107
4)6.4x 10207

eafl et elemeneled 2 Gevns  GomumliemL
&G GumLneofledr Spmmed 5.6 x 107'°J. Cogud
eeueflHaeTemiLBLD eTeusLeofledr QuissH SphHMmed
12.0 x 10 2°J. ereufleb Beuemev &FmiL

1)6.4x 101

2)6.8 %1077

3)4.4 %107

4)6.4x102]

21. Which of the following sets of quantum numbers
represents the highest energy of an atom?

Dn=3,I=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
3I)n=4,1=0,m=0,s=+%
4Hn=3,1=0,m=0,s=+1%

SLp&&600TL G6UMEOUTLLD 6TevuTdH6ifledT 6B & Sl&erfled
618 Sig)6fledT SIFSHSHDMEMEVS SBISHME?

Dn=3,1=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
I)In=4,1=0,m=0,s=+"%
Hn=3,1=0,m=0,s=+1%

22. Choose the incorrect statement:

1) The shape of an atomic orbital depends upon
the azimuthal quantum number

2) The orientation of an atomic orbital depends
upon the magnetic quantum number

3) The energy of an electron in an atomic orbital
of multi-electron atom depends on principal
quantum number.

4) The number of degenerate atomic orbitals of
one type depends on the value of azimuthal
and magnetic quantum numbers



SHEUDNET dnhemmd BHT6Y C\FLIS:

1) Sieom) I Ledleor euqeud Caomeoor 2 hs
G6UIT6TOTLLD 6TE00T606T0TL QILIMTMISSHE)

2)m oo HTULLTOET FHlemswienoey
&G G6UTEVUTL LD 6T600T6M6TOILI QILITMISSE)]

3) U6 ETELHLOMEITSHET ESHMevoT  SigovyeNleoT
i) ST LMeSey 2 eitem eTev&LTmevfledt
SHDMED (PSHEOTEMLD G EUTETOTLLD 6T600T60600TE
SMITHSIETTS)).

4) 810 HODL  Siew) AL LmeLs6rfleor
eTevoTe00 1Hems  G&HMevor 2 [h%  LHMID
&MbP GH6UNETTLLD 6TevordHerfleor LodlliemuL
UTMISSSI

23. Which of the following statements on quantum
numbers is not correct?

1) Quantum numbers n, I, m and s are needed to
describe an electron in an atom completely.

2) Quantum numbers n, I, m and s are obtained
by solving the Schrodinger wave equation.

3) A subshell in an atom can be designated with
two quantum numbers n and 1.

4) The maximum value of | is equal to n - 1 and
that of m is £l

GOUMETOTLLD  eTevordel  UDPW  SLpéH&esorL
sammiserfled erg sflnme)?
VM Seneid 2 6ter  6re&LTTemeoT

pgemwwng efleuflss n, |, m woHmd S
&6UMEOUTLLD 6T600T&H6T BHeme.

2) &6UM6DUTL LDET600T&ETN, |, MLMHMILD S S SliLiemex
I E T SI6M6V FLOGOTLIML_ 6L &
STlIusedT eLeuld ELIMLILIB&OTmEDT.

3) @ Sismieled 2 6TaT QI HEWeTUTHIn (B
@revtor(® G6UMEUUTLLD 6T600T&HET N LOHMID |
-2h60 GOLNILLILBEDS)

4) | @601 LB WHIL N — 1 &G &b LOHMILD
m &eor &l +1

24. The frequency of a wave light is 1.0x10° sec™’.
The wave length for this wave is

1)3 % 104 cm
2)3x 10 *cm
3)6x 104 cm
4) 6 x 10° cm

siemev Geaflufleor ailFeleusvor. 1.0x10° sec'. b
S16m6VUTNE0T Si6mEVIHEIMLD

1)3x 10*cm
2)3x10*cm
3)6x 10*cm
4) 6 x 10° cm

25. Calculate the de-Broglie wavelength for electrons
if its speed is 10" m/s?

1)0.72x107'8 m
2)7.20x 108 m
3) 72.8x 108 m
4)728. 1078 m

ereusLTMeordHefleor Beusdsld 10 m/s erenfled Sbs
SiemevulledT SiemevIHaTLd

1)0.72x10"% m
2)7.20x 108 m
3)72.8x 108 m
4)728. x10'* m

26. Which one of the following conditions is incorrect
for a well-behaved wave function( )

1) v must be finite
2) v must be single valued
3) y must be infinite

4) v must be continuous



Slemev EMiUsGG (V) WedTeupd HlLbHementsarfled
618 SHEUDTEOTE).

27.

1) Vv suedIWMNISSLILILL STH SHHe Geusvor(bLd
2) y @nemm wHliLngs Smes Geuevor(BLD
3) v erevemeuimmans hsHsH Geuetor(hLD

4) y egnLigdlwns més Geuevor(BLo

The kinetic energy of electron is 3.0 x10*J. The
wave length of the electron is

1) 7965A
2) 4625A°
3) 91A°

4) 8967A"

eTeu&LImeofledor Quwisse Symmed 3.0 x107 J. erevfled
ereu&L_Tevfledr Siemevifentd

28.

1) 7965A
2) 4625A°
3) 91A°

4) 8967A

In an atom, an electron is moving with a speed
of 600m/s with an accuracy of 0.005% certainty
with which the position of the electron can be
located is

[h=6.6x10Js, m=09.1x 10* kg]
1) 1.52 x 10 m
2)5.1x 10° m
3)1.92 x 10° m
4)3.84x 103 m

Qm ool @ eeslaner 600 /el
Geusgdled 0.005% GHELOWSHIL 60T HEBTSME,

ereufley

eTevdLnmenfleor  Hlemeouled  ermu(BLD

BFFWILHD HEOTELD

[h=6.6x10Js, m=9.1x 10 kg]

29.

H-sigmiefler  sweflunés@o  Homed X

1)1.52 x 104 m
2)5.1x 107 m

3)1.92x 103 m
4)3.84x 103 m

The ionization energy of H atom is x kJ. The
energy required for the electron to jump from
n =2 to n =3 will be:

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

kJ.

eTeusLIMedT N = 2 @eSl(Bba N=3 && STEYUSNSS
GCaemeuwlnenT Symmed

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

30. Consider the following statements:

)]

2)
3)
4)

Electron density in XY plane in 3d, , orbital is
Zero

Electron density in XY plane in 3dz? orbital is zero
2s orbital has only one spherical node

For 2pz orbital YZ is the nodal plane

The correct statements are:

1)2and 3
2)1,2,3,4
3) Only 2
4)1&3



HledTeUIBLD HnMHMISHEM6NTS SH6U6UTILTEIS6IT
1) 3dx2_y2 STIILLTeNe XY semsdleverevéL mmenfleor
LTS LhedeSlib
2) 3dz* gymillLmedSled XY sensdleverevsLmmenfleor
LTSS L,@eflid
3) 2s I LmeSled 6H GBHTL6D S6MD 2_6ieng)
4) 2pz SHmILmeSled YZ GBrLed S6Mb 2_e6Tens)
SIILINEDT Sn HMIGHET :
1) 2 and 3
2)1,2and 3
3)2

4)1&3

MATHS (Q.No. 31 to 45)

31. The positive integer root of the equation
(5+2V6)"3 + (5-2V6)" 2 = 10 is

1
2)2
3)-2
4y 4

(5+2V6) + (5-2V6)"3 = 10 er6dTm SOOI 19657
LBlemas (L(p 6Tevor SiT6y

1
2)2
3)-2
4)4

32.If a and P are the roots of the equation
x? — 4x + 13 = 0, then the quadratic equation
whose roots are o' — 40° + 30> + 2 and
Blo—4p*+13B+ 1
is
4
1)2x2—-4x+9=0

2)4x*+9x—-2=0
3)4x2-9x+2=0
4)9x*—4x +2=0

0L 6TEOTLIGOT [3 6T60TM FLOGOTLIML LG 60T CLOGUIRIGET 6T60fl6D
Boo— 432 + 13p + 1

4
SHFEUNEDD  CLPEUMRISENMTS — \SHMevoTL  EIHLIg

goeotun(B

1)2x°—4x +9=0

of — 4o’ + 30> + 2 WOHMID

2)4x*+9x—-2=0
3)4x2-9x +2=0
4)ox*—4x+2=0

33. If the sum of the roots of the quadratic equation

ax’ +bx + ¢ =0 is equal to the sum of the squares
c

of their reciprocals, then a h, = are in
b’a’a

1) Arithmetic progression

2) Geometric progression

3) Harmonic progression

4) Arithmetic — Geometric progression

ax? + bx + ¢ = 0 eT6dTM FLOGOTLIMLIQ60T CLPELTRISEI60T
& (BBHEL eUDMET EuT S BRISB6M6T HemevdiLdlserledT
a

Fn (BEHRIEHS FLOID er6vfled b % 6TGDTLIGDT.
1) Fa (B OFMLIfleL SlemLoW|LD
2) LSS OSMLIfle) SiemLoW|LD
3) @em&s OFHNLIfl6L SiemLoW|LD

4) galL(B — LUHESS OFMLIfleD SlemLoWLD

34.If a, B are roots of 375 x> — 25 x — 2 =0 and
S_=o"+ " then n lim 0 Sy is

& r=1
D353

a
116
Dy

4) None of these



a, 3 eredTuieor 375 x2—25 x —2 =0 eT60TM &LosturrquséT

apeuISET HmIb S = o + B erevfled n lim ooz Sr
60T LoGILILY

35.

l)ﬁ
7
D116
1
N7

4) @dleb ergI6D VM6V

If f(x) = x —-[x], x#0, XER where [x] is the greatest
integer less than or equal to X, then the number of
solutions of f(x) + f(1/x) = 1 are

)0
2)1
3) infinite

4)2

f(x) = x —[x], x#0, xER @i [X] eredrug) LBLIOWLITH
(R erevor &miL erevfled f(x) + f(1/x) = 1 eredTm
FLoedTUML 19601 ST6y&H6rfledr 6T6t0T600MSH6mE

1)0
2)1
3) ¢pgeled
4)2

3x
36. The roots of the equations 2?3 >=9 are given by

1) log, (%), -2

2)3,-3
3)-2, 1-log,

log,
4) 1-log’,

10

3x
2:23°2 =9

FLo6OTLIM(B &6 )

e&MBSSLUL(H6T6meot

1) log2<%>, -2

2)3,-3
3)-2, 1-log,

log,
4) 1-log’,

37. The set of values of a for which the equation (x* +
x+2)-(a-3)(xX>+x+2)(xX®+x+1)+(a-4)
(x> +x + 1)? =0 has at least one real root is

16
D (5,42
2[5,
I8
16
4) (3, ?]
xX2+x+2)—-(a-3)(xX*+x+2)(x*+x+1)+(a—4)

(x2+x+1)*=0 6T6dTM FLOGOTUIML LGN &EWMHS I.II_&LD
Q@ ewliiewistor Sie) Smdbe CausorBerefles a
ufledr LoFIL &6 LRIl SH6ToTD

38.

(6

o [5.3)

e

4) (3%]

The quadratic equations x? — 6x +a =0 and x> —cx
+ 6 = 0 have one root in common. The other roots
of the first and second equations are integers in
the ratio 4 : 3. Then the common root is

D1
2) 4
3)3
4)2



x* —6x +a=0 wpm x> — cx + 6 = 0 eTedIm
Uy sweun@seafledr @ Si6] b HMID
wHn Sieysefld (WL LOHMID EFesorLmb
getun(Bsefleor STeysmeafledr efdamismer 4 : 3
ereofled ELNgISSTEY

1

2)4

3)3

4)2

39.1f a and B are the roots of the equations

X2 + pX + q — O and alSO X3900 + p1950 X195() + q1950 —

0andif & B
B’ a

0 then the value of n must be equal to

are the roots of x"+ 1 + (x + 1)" =

1) 3900
3) 1800

2) 1950
4) 2000

0, B eredrueot x> + px + q = 0 LHMID xPP + p!%50

X190 + @10 = 0 eredrm &loedT LN([BSeTEOT ST6YdB6iT

G %, % ereotueor X" + 1 + (x + 1)" = 0 er60tm
FLoEOTUIM 19607 ST6)&H6iT er6ufled N — 60T Lo

1) 3900 2) 1950

3) 1800 4) 2000
40. In copying a quadratic equation of the form

x*+ px + q =0, the co-efficient of x was wrongly
written as — 10 in place of — 11 and the roots were
found to be 4 and 6. If a, B are the roots of the
correct equation, then the value of a* + * must
be equal to (o < p)

1)2177
2) 4177
3) 3177

4) none of these

11

x* + px + q =0 eremb euqeNled 2 eiar EHLg
FLOGOTUML 6mL. 6T(p&ID Gumg) X 60T Q&(LQ6UT60TS) —
11 6@ — 10 erevr e1RHw BLINg) HewLSHSLD Si6eyser
4 wHMID 6. o, [ eredTeoT SIflLIMeDT FLOEOTLIML .60
Sreyaer erevfled o + B* 60 Y (o0 < B)

1) 2177

2) 4177

3)3177

4) @dled ergIeLO6LEMED
41. of  the

The  solution  set equation

log 2.log, 2=log, 21is

1) {27 27}
m{%g}

3){i32ﬁ

4) None of these

log 2.log, 2=log, 2 etedim  &loedTUM 60T  SiT6Y
&600TLD

D {o-, 27}
2){%2}

3){%32ﬂ

4) @dleb ergIOLOLmED

42. A car travels 25 km an hour faster than a bus for
a joumey of 500 km. The bus takes 10 hour more
than the car. If the speed of the car is p and the

speed of the bus is q, then

Dp=¢’
2)p=2q
3)p=3q
4)p’=q



500 &S gMISems &HLES LOE(HSTETS)
Guhdleor Geusdemsd 6flL wefldE 25 &S

Beusmlons

agedmg OO  CUEHSTETS,

&H(phemsefl 10 weoofl GHID & (BFHeons GBI
aT(B5515 QSTeTHME). &\(RHHleor Geusld p LHMID
Guphdleor Geusld q ereufled

43.

(x+ 172+ [x-1

Dp=¢
2)p=2q
3)p=3q

4)p*=q

The number of real roots of the equation
(x+ 1P+ [x1 = 2L s

1)0
2) 1
3)2
4)3

27 . . s :
=74 6T60TD LDGOTLIMLL].60T 6ILOWIGILIE0T

Sreyaefledr erevorevofldHemsa

44,

1)0
2) 1
3)2
4)3

If x2 — 10ax — 11b = 0 have roots ¢ and d, x> 10
cx — 11d = 0 have roots a and b, then the value of
atb+c+dis

1) 1210
2) 1208
3) 1206
4) 1200

12

x*> — 10ax — 11b = 0 er6d0Tm SLOGTLMLIQE0T STEYH6IT
c wpmib d Guweud x* —10 cx — 11d = 0 eTedTD
SLOEOTUNMLI060T ST6y&6T a, b erevfled a + b + ¢ + d
udledr Lol

45.

1) 1210
2) 1208
3) 1206
4) 1200

If a, B, y are the roots of x* — 3x — 1 = 0, then the
a+1 N B+1  y+1.

value of 1S
a-1 " B-1  y-1

1)9
2)6
3)3
4)1

a, B, y eredtuent X° — 3x — 1 = 0 6T60TM &FLOGOTLITL LG 60T

Srey&er erevfled Zj + Ej + zj 60T LI
)9
2)6
3)3
4)1



